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Solving Trigonometric Equations

. —1 1 ) 1
SIn E versus SIN X = E
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6.6 Handout
Solve for x € [0,2m).

2.%sinx =+/3 4.cosx—1=0
z 2 +\ 4]
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Algebra Review

(x—-—2)(x—-3)(x—4)=0

X-2=0 ,Xx-3:0,X~f=0
X=2, 3,1

The Zero Product Property states:
If AB =0,then4A =0o0orB = 0.
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The Square Root Theorem states:

If [f(x)]? = ¢, then f(x) = +V/c

6.2 sinx cos x = /3 sinx Xﬁl.?)?@
2 sinxcosx —{&sinX = ()
sinx é,?cosx - 53) =0
Sinx=0O Rosx-J2 =

x-o Reosx =J3
CosX = \E’:

e %]
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8.cos’x—1=0

coszx = l T
(cosx-Dcosx+1) =O
(OsX=-1=0 @sx+|=0

CcoSX =
P( O\] COSK=\  Cosx=-|

10. sec®? x + /3 secx —vV2secx —V6 =0
Let secX = WU

u_z + r 3w -\Jz_\’—\\)’_ = O
factor hlj 3roupmal
u(u_ﬂ‘) \ﬁ((“_\,—) )

u+\r3(“_\;— O
U3 = -\Ilz =0 Z ig{,
:_B L(\r - |
Secx == Secx =y 2.
X—a‘oss ‘
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14.2cos’x +1 = —3cos x

Qcos X + Bcosx + [= O

Let l_t=CoS)(
2w +3u+ (=0

(20\4-)(“ - D:_

18. 4 cos3 x = 3 cosx

“4cosx —3cosx = (O
COSX <4¢°S ><—3> O

cosxX =0  “4cos’x =3




trig-2013-04-22-6p5solvingtrigequations-b.notebook April 22, 2013

20.tan? x + tanx — V3 = V3 tanx

tanx +tanx — I3 tanx I3 =
N —

\/\/\/

'l:anx <+,anx+D_\§3 (.emx_,_b — O
(tanx "'D('(:aﬂx—\ﬁ) =0
tanx=-| +anx =3

f 37T
X=Z Jtr T
. 4:‘; A>3 >4§]

22.cos*x = cos? x

COS“)( —cos’x =0
cosx (cos k=)= () COh{ose oy
cosx=0 Cos?'x =
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New Directions: Find ALL the solutions (not just in [0,27) )

62.Sec3x—%§=0

68. Cos(Zx —g) = —?2

/
Ccos QX‘—;:—\;_

N3 =S 2mk. X = = SE 2k,
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{LanZx = | (’9?
Atx=1" 4+ TFK 8
4

Homework (from 6.6 Handout)

#1-21 odd - finding solutions in [0,27)
#61-69 odd - finding all possible solutions (+2mk)

Quiz mowed o ukdnesdag
Test sti|| scheduled Sor Faao?(
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